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4. Result

2. Background

2. Precedent research I Form of Window and optimization

ma

I |
1
T 1
| 1
-

0r90| M YL ATHO| Zer T T2t Tyt FRE
LIH{OIZIT), 0, Athol TEo0f ofoh A%} Lo OfR & T
ZI0fMQ) XfO| 2 LIERHTE. 27 Utenteel 39, Ciee
9 Ik 20| YXIAL, T4, OFXFAIO| H T2 AFGEIACH,

© SO EHEQ OHX| £20| HXE FHLZ O|ROTS

PO=PK =a

ZQPH =0 \/x'zT+x+r<2x

PH =acos 8

D 2 2
OP=x+acos@ NX +r°  <x-r

2 2 2 2
X +ro<x =2xr+r

T UFEO| 7[0 EFAUX JHH0l AlgE

LOPH =7—0
§=\/x2+az+2xacosl9 xr<0

to make a triangle exsist

2x <OP + E(since this two length 1s the maximum)
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3. Simulation Condition
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5. Conclusion
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